QUANTITATIVE APTITUDE

51. Amit, sumit and Vinit divide an amount of T 2,800
amongst themselves in the ratio of 5 : 6 : 3
respectively. If an amount of ¥ 200 is added to
each of their shares, what will be the new ratio
of their shares of the amount ?

() 82006 by B:7
ol F 3858 td) 4:5
{e} None of these

52. The average of four positive integers is 59. The
highest integer is 83 and the lowest integer 1s 29
The difference between the remaining two
integers is 28. Which of the following integers is
the higher of the remaining two integers ?
{a) 48
th) 76
{c) 81
() Cannot be determined
{e) None of these

53. 1f a shopkeeper marks the price of goods 50%

more than their cost price and allows a discount
of 30%, what is his gain or loss percent?

{a) Gain of 5%
(b Gain of 10%
{¢) Gain 20%

{d) Loss of 200
{e} None of these

54. One man, 3 woman and 4 boys can do a piece of
work in 96 hrs, 2 men and 8 Boys can do it
in 80 hrs, 2 men and 3 women can do it in 120 hrs.
5 Men and 12 Boys can do it in?

14
g

1
@) 39 — b
Q) 13 hrs (&) 42 11 hrs
{c) 43 %;1 days {d) 44 hrs

(e) None of thege

§5. A Man borrowed ¥ 24000 from two meney lenders.

For one loan, he paid 15% per annum and for
other 18% per annum. At the end of one year, he

paid ¥ 4050. How much did he borrewed at 18%
rate?

(a) 14000 (b 15000

{c) 18000 () 12000

{e} None of these

Directions (Q. 56 ~ 60): In each of the following
guestions a number series is given. After the series a
number is given followed by (a), (b), (¢}, (d) and (e).
You have to complete the series starting with the given
number. following the sequence of original series and



-58. 3 19 103 439 1381 2887
5 (a ) (0 (@ (e
What will come in place of (b)?
{a) 139 & 183
{c} 161 (d) 157
{¢) None of these

57.4 13 40 135 552 2765

2 (a) (b © (@ (e

62. What is the average weight of girls in thle clas:‘?
I. Average weight of all the 60 students is 42 kg.
II. Average weight of boys is 43 kg. o
IIL Total weight of all girls together is 1144 kg.
(a) Any two of three
by AlLT, Tl and 111
{¢) Tand Honly
lonl
i)) ijiilin ca};mot be answered even with

What will come in place of (¢)? information in all three statements. .
3 (b) 133 63. What is the selling price of the T.V. set if n
s 1 () 131 discount is offered?
(e 127 ¢ Phiess 1. Profit earned was 20% .
B HmE TS 1. Had 10% discount been offered on selling
L R . 1 price, the profit would have been ¥ 1,200,
6 (a){b)(c){d)(e) 111 Cost orice is 2 15.000
: price is ,000.
. . f)
What will come in place of (d5). @ Any two of the three
(“; i ((Z; . () Only I and I
{c
{¢) Onlyand III
w0 (39) Zonz,ff :;esigl o1 (d) Only H and I1I
: {e) None of these
1 ¢a) Fb) {c) ' (d) (e , 64. How many children are there in the class?
What will come in place of (d)" I 20% children are there in the class?
(@) 169 (b) 161 II. 44 children can speak languages other than
{e) il (d) 159

Hindi.
HI. There are 30 boys in the class.
(@) AILL II and IIT
(b) Any two of the three
{e) II and either I or ITI

(e) None of these

60. 8 4 6 15 525 23625
12 (a) b) (& (d) {e)
What will come in place of (¢)?

(@) 1895 {d) Tand 1T only

e {e} None of these

s 65. What is the volume of the cylindrical tank?

() 22. I Area of the base is X square metres,

(d) 20.75 Il Height of the tank is Y metres.

{e) None of these [IL. Diameter of the base is equal to height of the
61. The speed of a train A, 100m long is 40% more tank.

than the speed of another train B, 180m long @) Only I and I1

running in opposite direction. To find out the (&) Only I and 111

speed of B, which of the information given in {c) OnlyIandIII

statements P and Q is sufficient

(d) All1, 1T and 11T

P : The two trains crossed each other in 6 seconds (e) Any two of the three

Q : The difference between the speed of the trains

‘ Directions (Q. 66 - 70) : In, cach of these questions
18 26 kmph fwo equations numbered I and Il are given. You hauve
{a} Only P is sufficient to solve both the equations and give answer.
(6) Only Q is sufficient taifa<hb
by ifash
{¢) Both P and Q are needed
Q . {c) ifrelationship between a and b cannot be established
{d) Both P and Q are not anficient -
(dyifaxb
(e} None of these

e ifa<h



668. 1. a*+B5a+6=0
II. B2+ 38b+2=0

67.1. 2a%°+3a+1=0
I 12024+ + 1 =0
68. I, a?=4
H. a’=9
89. 1. 6a’-253+25=0

II. 15b*-16b+4=0
70. 1. 4a*-20a+21=0
iI. 2b*~58b+3=0

Directions Q.71 -75): Study the following table
carefully to answer these questions :

Percentage of marks obtained by six students
in six different subjects

Subject

Student P 4] R 8 T i
{70} (803 agm | (e (75) (150

A 88 54 77 72 64 82
S £ 7% &2 g5 58 78
) 58 81 6& &0 58 58

D 75 a5 8 48 72 8

E g7 6 85 76 77 83

i F 72 70 ™ a8 68 2

Note : Figure in bracket below each subjects indicates
the maximum marks allotied.

71, What is the average percentag,
by all students in subject T

la} 65.6 b 88.5

{e) 66.8 id) 5.4
{e) None of these

Marks obtained by ‘A’ in subjeets P, Q and R

together are approximately. What percent of the
marks obtained by F in subjects 8, T and U
together?

(a) 80
by 75
{c} 85
() 105
(e} 115

73. What is the overall percentage of marks obtained
by ‘B’ in all the subjects together (rounded off to

e of marks obtained

12

-

two digits after decimaly?
(@) 70.02 (b) 72.51
{cy 67.83 () 71.50

{e} None of these

74. What are the marks obtained by D in all the
subjects together?

lo) 4408
(c) 480

(b) 499.9
(d) 490

75. What are the average marks obtained out of 80
by all the six students together in subjeet ‘Q?

{a) 68 ) 77.5
() 88.57 {d) 62
(e) None of these

Directions (Q. 76 - 83) : Study the fellowing graph
carefully to answer these questions.

Percent Profit Earned by Two Companies Producing
Electronic Goods over the Years

Profit Karned .
Total Investment

% Profit = 100

Profit Earned = Total Income — Total Investment in
the Year

L b DOMDERY &
el Ctangmery B

Percemnt Profit Bamed
~3¥8sER IR

YRAR

76. If the profit earned in 2006 by Company B was

¥ 8,12,500. What wag the total income of the
Company in that year ?

(@) T12,50 000
() T16,50,000
(@) None of these
77. If the amount invested by the twe Companies in
2005 was equal, what was the ratio between tgts)
income in 2005 of the Companies A and B
respectively?
(@) 31:33
{c) 34:31
{e) None of these

78. Ifthe total amount invested by the two companies
in 2009 was T 27 lakhs, while the arnount invested
by company B was 50% of the amount invested
by company A, what was the total profit earned
by the two companies together?

ta) T 21,15 lakhs {6) T 20.70 lakhs
(c) T18.70 lakhs (d) T20.15 lakhs
te; None of these

9. Ifthe incomes if company A in 2007 and 2008 were
equal and the amount invested in 2007 was Z 12
lakhs, what was the amount invested in 20087

(@) ¥10,87,500
{6y ¥10,85,700
() ¥12,45,000
() T12,85,000

R FUREY

® 20,62,500
(d) 218,253,000

(b) 33:31
(d) 14 ; 1z



o : hool R 18
: tudents in sC
Ad 84. The total number o;f St rcent of the total
fit earned by company A1 What p
t of profit en
g80. If the amoun

imately.
approximate ! ”

7 10.15 lakhs, what was the total ﬂig]ber O ek tie 4 sc{i;;{;oés
2006 was J |
| i {a) 89
mvesnml;nltrlkhs e tey 78 {d) 82
- Z 124 1:khs () ¥ 14.2 lakhs
{c) :

(¢} 94 .‘ »
85. What is the average number of boys in schools
- and Q together?

(e) None of these

i v B in 2004 1s
ount invested by compan
s gfg?:{gs and the income of 2004 is equal o the

= (b 1575
() 1425
in 9005 as the amount of profit o5
i tmentin 2005, whatwast : - @) 162
g:rrifed ::2005 by company B? foy 1450
{a) ¥ 6.6 lakhs {6 ¥ 18.6 lakhs

e} None of these

{¢) T10.23 1akhs {d) T 9.6 lakhs 86, What js the

ratio of the number of girls in school
(e) None of these

P to the number of girls in sehool Q?

FATT ey - 13
82. Ifthe investments of company Ain 2007 and 2008 fay 2% gf () 17:21
were equal, what is the difference between profit te) 2027 d) 21:17
earned in two

years if the income in 2008 was fe) None of thege
T 24 lakhs?

87. The area of a circle is pro
@) 225 lakhs (b} T 3.6 lakhs of its radius. Asmall cirel
{¢) 1.8 lakhs ) 22,6 1akks within a larger circle o
{e) None of thege

ratic of the area of the
of the larger cirele. {
83. If each of the companies A and R invested wiad

portional to the square
e of radius 3 om is drawn
f radius 5 cm. Find the
annular zone to the area

Area of the annular zone is
T 25 lakhs in 2010, what was the average profit ;};Z{ilﬁf 2?ii§zt§§;2:};?rif:??0fthe tsgerEide
earned by the two companies? @ 9:18 ®) 9:95
{a} T 18 lakhs {b) T 22.5 lakhs () 16 - 25 (d) 16- 97
(e) T17.5 lakhs (d) T 20 lakhs (e} None of these
{e) None of thege

88. The perimeter of the ba
13 8 em. If the hes
its volume is

Directions (Q. 84 - 86) 2 Study the
to answer the questions that follow:

Total number of children in & different schoolg and
the percentage of girls in them.

se of a right circular cone
graphs carefully

ght of the cone ig 21 cm, then

108 2
e} '“—:I—-“ ¢m
Number of Children '

h) 108 7 e
1318 5

{0} ———om’
) 112 mom?
fe) None of thege

89. Outof 10 teachergof

and in his place, a new teacher of age 2

a school, one teacher retires

e 5 years
- Joms. As a result, average age of teachers is
: reduced by 3 vears. The age (in vears} of the
’ Ptrc&ntagr af iz ret%red teac'her 18 ;
40 {c) ah (d) 55
:, tey NMone of these
=k
a0 : 2 1 5 L )
3 _ 90, If - — = then the value of v* 4 = g
t . F=Fx+l 3 «
) L (h) 81
E; L T E ¥ L ¥ 3
g 2 ] % 1 ts {e) 110 {cdy 125
Sxhoel

o7 WNinmo b $Eams



o1,

8

93.

95,

The tiyne in which ¥ 820,006 aommaunie to & @2&%1{}
at 10% p.a. at compound interest, interest hei nE
compounded semi annually is

1

o
(a) 3 vears (b fi-’;.; VEears
Frd

() 2 years ey «— vears
g

{e) None of thega

Two pipes, P and G can 1] a cisternin 19 and 15
minutes respectively, If both are opened together
and at the end of 8 minutes, the fiyst iy closaed,
how much longer will the cistern take to H117

y o B
(h) B~

:,:i

ta) & minutes minutes

<
§ e
o} &

. -
(¢} 82 minutes ; minates

{e} None of these

A swimnmer swims from point & againgt a current
for 5 minutes and then swi ms backwardsin favour
of the current for next 5 minutes and comes to
the point B. If AB - 100 migtres, the speed of the
current {in km per hour) is:

() 0.4 thy 0.2
ey 1 W 65

te) None of these

AB Cwalk 1 ke in 5 mamittes, B minutes and
10 minutes respectively, O starts walking from a
point, at a certain time, B starts from the same
point I minute later and A starts from the same
point 2 minutes later than C. Then A necets B
and C at times.

{a) 3

min, 2 oun (63 1 min, 2 min

4

fel 2 min, 3 min {ef 3 mHn, & min

{e; None of these

A person bought two bicycles for ¥ 1600 and sold
the first at 10% profit and the second at 209 profi,
If he sold the first at 20% profit and the second at
10% profit, he would get 2 5 mare, The difference
of the cost price of the bicycle was :

@) T80 by T 40
ey T25 by 75
ey None of these

Two cards are drawn at random from a pack of 52
cards. What is the probability that either both
are black or both are gqueen?

56 o,
{a} 525 (&) 551
57

@ {75  https://www.freshersnow.com/p

B WL gy

o,

98

104

il

How maoay words can be {ormed from the letters
of the word "DIRECTOR . 3o that the vowels are
alwayvs together?

(ot 2025 thy 2106

Lik () 2160

[

fel None of thoss

A persor distributes his pens among four friends
L1 1 1

A, B, C, Din the ratia 2 " R = What is the
Rr N

TRIENUY numbers of pens thar ihe person should

have?

iy 7R ol

Ll «"-f.—?.m!

Pt g I Errid
fog 57 iy G5

e} None of these

- A contractor undertook to itnish 2 certain work

&

s and emploved 120 men. After 684 days,

wn 124 dey

e : s
he found that he had already done 5 of the work.
How manay men can he discharged now so that
the wort may fnish in time ?

1 ib) B0

el Nove of these

A man d vided ¥ 9 800 arsong his four sons, three
daughte s and wife. Each danghter got twice the
amount given to each son. His wife got T 300 less
than amunt given to each san. How much total
amount 1id all the three daughters get?

4,500

= 5y
U

T E400
¥

e TeiG

Rt

P Uanr ol be determined

ey Mone of theoe




